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This is always true. Multiplication is commutative. Three factors multiplied together will always give the same
product, no matter which order they are multiplied in.
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Possible answers:





image6.png
Possible answers:
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5x7x2=70 10 x 3 x 1= 30 8x3x2=48

$x4x5=100 3x10x 6 =180 2x9x10-=180

Draw It!

Children will draw an image of s boxes of eggs with 2 rows of 6 or an image that represents s x 2 x 6 = 60 such as an
array.

Record It!

SXx2x6=60
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This is always true. Multiplication is commutative. Three factors multiplied together will always give the same
product, no matter which order they are multiplied in.




